Operation, Maintenance and Service Manual
Comnplete with lllustrated Parts Catalog




ATARI INC

1265 BORREGAS AVENUE

’ PQO. BOX 807
SUNNYVALE, CALIFORNIA 34086
4087452000~ TELEX 35-7488

Operation, Maintenance
and Service Manual

Complete with lllustrated Parts Catalog

AN

ATARI

A Warner Communications Company 0



1 LOCAT!ON SETUP

vow>

mxramm

A

8.

C.

INTRODUGTION: oot i risian s o s i el i e S s s s 1
GAME INSPECTION Lo i i 3
LOCATION OF SERIAL NUMBER ... .. e 3
INSTALLATION REQUIREMENTS .. i 3
Power REQUITBIMEIITS .0 it e it arss i iaa it cssiar e, 3
Temperature RANEE ... ...ttt 4
HEMIAIY RENEE. oo G i e e i g sttt st ety 4
Location Space ReqUirements ..........o.ooiiieiiiiiaiinneaenn, 4
Type of Power Cord ... .. i et 4
INTERLOCK AND POWER ONIGFF SWITCHES ..ot 4
SELF-TEST PROCEDUREINTABLE T .o 4
QPERATOR OPTIONS INTABLEZ .. o iy 4
FOREIGN LANGUAGE TRANSLATION L. i 4
VOLUME CONTROL L oot ba e a
2 GAME PLAY
ATERACT-MODE: i i o o i s s s v s 9
READY-TO-PLAY MODE .. . it ie e i0
PEBY MOIDIE . on oo i s s s (s L o (G o S e s 10
CAME OVER MODE .. ..t i 10

D.

3 MAINTENANCE AND ADJUSTMENTS

N

CLEANING 5s s s SRRt s 12
COIN MECHAMISM ettt et 12
Components On Coln DOOF ...ttt iiiisaans 12
Access to Coin Mechanisms .. ... .. i it : pl
Cleaning of Coin Paths ....... P B e e 13
Lubrication: :issssvvsssiy i FEEEEPE SRRV RIS 13
Adjustment of Coin Switch Trip Wire ... i iiiiiiiiaiinnn. 13
Mechanical Adjustments on Coin Mechanism ................c..vevis 74
General Troubleshooting Hints ... .. .. .. coiiiiiiiiiinn s 15
FUSE REPLACEMENT iiiiisanies v e v v v sl i s s s v S S isiss 15
LAMP REPLACEMENT i et in s 15
REMOVING THE CONTROL PANEL .. o i 15
REMOVING THE TV MONITOR . .o i i iaaanns 15
4 THEORY OF OPERATION
GENERAL INFORMATHON ittt et iiaanaama e 9
BOWER S PP S s R R S S B 20
CRYSTAL OSCILLATOR AND TV SYNC COUNTDOWN CHAINS . ...... 20
G R ) N T R e B B S S B 20
ADDRESS MAP i 22
INPEITICUTPUIT i st ottt i S s A0 030 0 o o iy 22
Digital QUEPUE oo i e 22
L R M S o T 22

W



G. MINOR OBJECT CIRCUIT . ... i, 22

H. MAJOR OBIECT CIRCUIT ... it 2

Lo ALPHA-NUMERICS ... s 23

Lo MIDEQ OUTPUT oo i i s 505 @5t v st s s a i 23

C Ko WAVE GENERATOR ...ttt 23
Lo AUDID oo 23

5 ILLUSTRATED PARYS CATALOG. ......................... 13

LIST OF ILLUSTRATIONS

Figure 1-1  Location of Serial Numberon Came PCB........ ......... ... ... 2
Figure 1-2 Location of Yoltage-Changing Plugs on the Power Supply ......... 3
Figure 1-3  Location of Power OniQff and fnterfock Switches ... ............ 5
Figure T4 Location of Yolume Adjustment ...........o.oi oo, 4
figure 3-1 Coin DoorAssembly ... ... i iz
Figure 3-2 Hinging Open the Magnet Gate Assembly ................oooinn 12
figure 3.3 Removal o Coin Mechamism ..o iin i 13
Figure 3= Surfaces to Clean inside the Coin Mechanism ... ........... ..., 13
Figure 3-3 Removal of Plate Covering Rearof Coin Slot ... ..........0oovit i3
figure 3-6 Close-Up View of Lubrication Point . ......... . ...t 4
Figure 3-7  Detajl View of Coin Switch and Trip Wire ............... .ol 4
rigure 3-8 Securing the Coin Switch Trip Wire ... ... . i e 4
Figure 3-9 Adjustments on Coin Mechanism ... ... oo 16
Figure 3-10 Remaving the Cabinet Light Assembly .............. ............ 17
Figura 311 Removal of TV Monitor ..o i i 18
Figure 4-1 Destroyer Game Block Diagram ... ... . ... 20
Figure 4.2 Destroyer Game PCB Block Diagram . .............iiiiiiiaioaons 21
Figure 4-3 Destroyer Game Harness Diagram ... ......cooooiiiiiiinen, 24
Figure 44  Destroyer Power Supply Schematic ... ... ... ..ocoiviiiinns 25
Figure 4-5 Destrayer Game PCB Schematic Diagram ........ ..o 26
Figure 4-6 TV Monitor Schematics ... oot e 31
Figure 5-1 Destroyer Final Assembly ....... . ... i i 34
Figure 5-2 TV Shelf Assembly .. ... . ..o i 40
Figure 5-3 Display Light Assembly ... ...t i 42
figure 5-4 Coin Door Final Assembly .. ........ oo )
Figure 5-5 Coin Door ASSembly . ... .. .iiiiiiiii e 46
Figure 5-6 Power Supply Assembly ... ..., 48
Figure 5-7 RF Shield PCB Assembly ... ........oiiiiiiiiiiiiiiiiiiiann, 50
Figure 5-8 Destroyer Game PCB Assembly .. .. ... oo 52
Figure 5-9 Control Panef Assembly . ... ... ... i 58
Figure 5-10 Switch Assembly (... o 60
Figure 5-17 Shift Assembly ... i s 62



LIST OF TABLES

Table 1-1  Self-Test Procedure . .......ivcieeneeranaaa e inranrens 6
Table 1-2  Option Switch Settings ..ot
Table 1.3 language Option Switch Settings ... ....ooviiiiii e, 8



LOCATION SETUP

A, INTRODUCTION

Atari's Destroyer ™ is aone player computer con-
trolled game that simulates anti-submarine warfare.
The object of the game is to sink as many submarines
as possible. A player controls the speed of the de-
stroyer, the time at which the depth charges are re-
leased, and the depth at which depth charges
explode. Point value of submarines depends on both
the speed and the depth at which the submarines
travel.

As the owner of Destroyer, you have certain op-
tions available in the game. The opticns include: the
number of cgins necessary to play the game, how
long the game will last, and whether or not extended
playis awarded. These options are selected by remov-
ing the game printed circuit board from the metal RF
box and setting the desired switches.




H B N M L Kk

' 100 ON 3NVD,

A— « -(“—v

Figure 1-1 Location of Serial Number on Game PCB




Destroyer, like all recent Atari video games, has a
self-test feature that tests approximately 75% of the
game’s circuitry, By energizing the self-test feature,
you can determine whether the game is operating
properly.

B. GAME INSPECTION

Your new Destroyer game is manufactured by
Atari with the intent of being ready to play right out of
the shipping carton. However, we need your cooper-
ation in supplying the last touch of quality control.
Therefore, please follow the procedures below to
ensure that you are getting the guality of game that
you expect from Atars.

1. Examine the external parts of the game cabipet for
dents, chips, or broken parts. f you have pur-
chased this game as a new unit, make sure that it
looks new.

2. Unlock and open the rear access door, Examine
the inside of the game cabinet for anything that
appears broken or out of place.

C. LOCATION OF SERIAL

NUMBER

The serial number for Destroyer is located on a
metajlic label in the upper left-hand corner of the
back of the game cabinet. This serial number also
appears in the corner (common to both edge connec.
tors) on the back of the PCB inside the game cabinet.
See Figure 1-1.

D. INSTALLATION
REQUIREMENTS
All special requirements for installing the game
are listed as follows:

Power Requirements;

Atari ships Destroyer for domestic operation on
110 VAC, rated at approximately 150 watts. The game
can be changed to operate at 95 VAC, 205 VAC, or 220
VAC by unplugging the Molex connector plug (see
Figure 1-2 for location of plug}, and plugging in an-
ather Molex connectar plug.

LINE VOLTAGE-CHANGING
VOLTAGE PLLUG WIRE COLOR
95 VAC ALACK
110 VAG ORANGE
205 YAC GHREEN
L RED YOLTAQE-CHAMGE PLUGS SECONDARY FUSES
(MAY OR MAY NOT BE
INCLUDED IN GAME
-
ON/OFF AND
INTERLOCK
,Q.E ™ SWITCHES
PRIMARY FUSES
gt

Figure 1-2 Location of Voltage-Changing Plugs on the Power Supply



Temperature Range:

Location and storage temperature ranges should
be no lower than zero degrees Celsius (32 degrees
Fahrenheit), and no higher than 49 degrees Celsius
{120 degrees Fahrenheit).

Humtdity Range:
Relative humidity at the game location or storage
area should not exceed 95%.

Location Space Required:

Destrover requires a minimum of 185 centime-
ters (73 inches) of vestical clearance, a minimum of 75
centimeters (29.5 inches) of width clearance, and 152
centimeters (60 inches) of depth clearance. Depth
clearance includes a minimum of 61 centimeters (24
inches) of player space.

Type of Power Cord:

Atari has added a strain relief power cord to De-
stroyer. The advantage of the strain relief cord is that,
if tripped aver, the cord will break off, Tripping overa
non-strain relief cord may result in ripping out the
inside of the game,

E. INTERLOCK AND FOWER
ON/OFF SWITCHES
To minimize the hazard of electrical shock while
you are working inside the game cabinet, aninterlock
switch has been installed at the rear access door. This
switch removes ail power from the game while the
access door is open.

To help you conserve energy, a power on/off
switch has been installed on the right side of the top
panel, near the front of the game cabinet, See Figure
1-3 for location of switches.

Please check for the proper operation of the rear
access interfock switch by performing the following:

1. Uniock and open the rear access door.

2. Plug the AC power cord inte a 110-volt source. (If
the voltage is less than 100 VAC, make sure that the
voltage plug is changed to the bilack plug.}

3. Set the power on/off switch to the on position by
flipping the toggle switch toward the front of the
game cabinet.

4. Close the rear access door. Within approximately
thirty seconds the TV monitor should dispiay a
picture,

5. Slowly open the rear access door until the TY
monitor picture disappears. The TV monitor pic-
ture should disappear when the rear access door is
opened to less than one-inch at the top of the
door.

6. Close and lock the rear access door. If the results
of Step 3 are satisfactory, then the interiock switch
is operating properly. If not satisfactory, check to
see if the switch is broken from its mounting or
stuck in the on position.

F. SELF.TEST PROCEDTURE IN
TABLE 1.1

Destroyer will test itself and provide data to
communicate with you that the game’s circuitry and
controls are working properly. We suggest that you
do the Destroyer self-test procedure each time you
empty the coins from the game’s cash box.

There are two tests performed with the self-test
switch on. The first test is done completely by the
Destroyer computer. In this test, the computer dis-
plays the alpha-numeric character set, determines if
its memaory is ok, and then displays a code for the
game time setting. The second test requires you to
activate each switch to determine if they are operat-
ing properly. A third test is perfarmed with the self-
test switch off. In this test, you determine if the depth
control and cursor are operating properly.

Perform the seif-test by following the in-
structions in Table 1-1.

G. OPERATOR OPTIONS IX

TABLE 1.2

At this time, decide what options are best suited
foryour location of the Destrover game. The coinage
options on Destroyer are free play, 2 games per cain,
1 game per coin, or 2 coins per game. Destroyer also
has a time option for a 50-second, a 75-second, a
100-second, or a 125-second game. A free play mode
may adiso be set for demonstration.

Set the options of the game as described in Table
1-2. Refer to Table 1-2 for the location of the option
controls,

H. FOREIGN LANGUAGE
TRANSLATION
Translation of the English language, used on the
TV monitor display, is easily accompiished by adding
two read-oniy memories (ROMs). These ROM;s
provide translation into German, French, and
Spanish. After adding these ROMs, the option



7\

SWITGH

INTERLOCK
SWITCH

Figure 1-3  Location of Power OnvOff and Interlock Switches




Table 1-1

Destroyer Self-Test

Test

lnstruction

Results if Test Passes

Results if Test Fails

Unlock and epen the coin door.
Set self-test slide switch (located
inside and to the ieft of the coin
door) to the on position.

Top displayed line on TV monitor
is numeric characters ¢ through
9, displayed twice.

Second displayed line on TV
monitor is Alphabetic characters
A through Z.

Third displayed line on TV
monitor is RAM OK ROM OK.

Fourth displayed line on TV
monitor is a single digit indicat-
ing the setting of the game timer
as follows:

0 = 50 second game

1 = 75 second game

|

One or more numeric
character is missing.

One or more aiphabetic
characters is missing.

Third displayed line on
TV monitoris BAD RAM
and/or 8AD ROM,

2 = 100 second game
3 = 125 second game
2 | Press START pushbutton, Sonar ping sound is heard each | No socund is heard.
each time the START pushbutton
is pressed,
Move DESTROYER SPEED Senar ping sound is heard each | Mo scund is heard.
CONTROL from one position to | time the DESTROYER SPEED
the other and back again. CONTROL is moved to FAST and
each time it is moved to SLOW.
Press the DEPTH-RELEASE Sonar ping sound is heard each | No sound is heard.
CONTROL. time the DEPTH-RELEASE
CONTROL is pressed.
Trip the left then the right coin | Sonar ping sound is heard each | No sound is heard.
acceptor trip wire. time a coin acceptor trip wire is
tripped.
Close contacts of the coin door | Sonar ping sound is heard each | No sound is heard.
slam switch, time the slam switch contacts are
closed.
3 Set self-test slide switch to off Dashed horizontal line moves up | Dashed horizontal line

position. Trip one of the coin
acceptor trip wires for a game
credit. Rotate knob marked
ROTATE TO SET DEPTH OF
CHARGE fully clockwise, then
fully counterclockwise.

when knob is rotated in one
direction and down when rotated
in the other direction.

does not move or is not
present at all.




Table 1-2 Option Switch Settings

Option Switch Settings
Option
1 2 3 4 7 8

Free Play ON ON
2 Plays per Coin ON QFF
1 Coin Per Play OFF ON
2 Coins Per Play OFF OFF

50-5econd Game ON ON

75-5econd Game ON OFF
100-Second Game OFF ON
125-Second Game OFF OFF
No Extended Play ON ON
Extended Play for 1500 points OFF ON
Extended Play for 2500 points ON OFF
Extended Play for 3500 points OFF OFF

OPTION SWITCH
{LOCATION B8)

s




switches must be set for the proper language transia- The translation ROMs are available through Atari
tion. See Tabie 1-3 for the proper option switch set- Customer Service. In your crder, please include the
tings. serial number of your Destroyer game. Contact Atari

g g ) Customer Service at the following address:
Table 1-3 Language Option Switch Settings

; - : Atari Customer Service
Option Switch Setting 2175 Martin Avenue
Language : p Santa Clara, California 95050
German OFF OFF
French ON OFF
Spanish OFF ON I. YOLUME CONTROL
tf volume is incorrect for your location, remove
English ON ON the game PCB and adjust the volume to your desire.
See Figure 1-4 for the Jocation of volume control.

Figure 1-4 Location of Volume Adjustment



During game play, Destroyer operates in one of
four modes: attract, ready-to-play, play mode, or
game over mode.

A. ATTRACT MODE

The attract mode begins with the application of
power and ends when the proper amount of coins are
accepted. During this mode the most recent score
appears in the upper left, the high score since power
on appears in the upper right. The appropriate coin
and extended play messages appear in the middte of
the screen, according to the options you have
selected. All controls and sounds are inactive during
this mode. The submarines and the destroyer appear
as in game play.



B. READY-TO-PLAY MODE

This mode begins when the proper number of
coins are accepted, and ends when the 5TART button
is pressed. During this mode, the message PRESS
START appears, coin messages disappear, the ships
freeze on the screen and the depth control is enabied
so that the player is familiar with it before the game
starts.

C. PLAY MODE

This mode begins when the 5TART button is
pressed and ends when the game is over. During this
mode ali contrals and sounds are active, The player
sets the depth at which charges expiode by rotating
the DEPTH-RELEASE CONTRGCL, Depth is indicated
on the screen by a dashed horizontal line (calied “the
cursor”). Depth charges are released by pushing the
DEPTH-RELEASE CONTROL. Once the depth charges
are released, the depth cannot be reset. In other
words, the charges always explode ar whatever depth
the cursor was set at when the charges were released,
A direct hit is not necessary since the shock wave

10

fram a near miss will crush the submarine’s hull. The
speed of the destroyer may be controlled by the DE-
STROYER SPEED CONTROL lever. The control has a
S5LOW and a FAST position that result in a distinctive
change in the rate at which the Destroyer moves
across the TV monitor. The engine sound changes
accordingly.

When a depth charge explodes without hitting a
submarine, a low "boom’’ sound is heard. When a
sub is hit the explosion quality changes to cue the
player (along with the explosion scene) that a sub-
marine has been hit. Sonar pings are heard any time
explosions aren’t active. Points are displayed where
the submarine was hit, after each explosion scene.

D. GAME OVER MODE

When the game ends, the words GAME OVER
appear on the screen for approximatefy four seconds.
Then, if there is credit, the machine enters the ready-
ta-play mode. If there is no credit the machine enters
the attract mode.



MAINTENANCE AND

ADJUSTMENTS

Due to its solid-state etectronic circuitry, this
Atari unit should require very little maintenance and
only occasional adjustment. Information given in this
chapter and elsewhere in this manuai is intended to
cover most servicing situations that may be
encountered at the game site. The procedures given
are in sufficient detail to be understcod by a person
with moderate technical background.

I reading through this manual does not lead to
solving a specific maintenance problem, you can
reach Atari’'s Customer Service Department by tele-
phone Monday through Friday, from 7:30 a.m. to 4
p.m. Pacific Time. From California, Alaska and
Hawaii, call {408) 984-1900; from the remaining 47
states cail (800} 538-6892 (toll-free).

If you are interested in gaining more information
on video game technology, especially the elec-
tronics, we recommend reading the Video Game
Operator's Handbook, manual number TM-043. This
hook is availabie from Atari, Inc., Attn. Customer
Service Department, 2175 Martin Avenue, Santa
Clara, CA 95050 for $5 each, or from vour distributor.




A. CLEANING

The exteriors of game cabinets and plex panels
may be cfeaned with any non-abrasive household
cleaner. If desired, special coin machine cleaners that
leave no residue can be obtained from your dis-
tributor. Do not dry-wipe the piex panels because
any dust can scratch the surface and resultin fogging
the plastic.

B. COIN MECHANISM
Components On Cotn Door

Figure 3-7 shows the back side of the coin door
assembly where the game’s two coin mechanisms are
maunted. Included is the lock-out coil assembily; the
‘ock-out wires are connected to this assembiy but are
hidden behind the coin mechanisms. During the at-
tract mode the microcomputer energizes the lock-
out cail, causing the lock-out wires to retract far
encugh to allow genuine coins ta reach the coin box.
But during the ready-to-play mode when the LED is
lit, and during the play mode (and also when AC
power to the game has been turned off},the lock-out
coil is de-energized, causing the lock-out wires to
move aut far enough to divert coins overto the return
chute,

Slam
Switch
Aswambly

Lock-aut

LAMP HOLDER SRS

Directly beiow each coin mechanism is a sec-
ondary coin chute and a coin switch with a trip wire
extending out to the front edge of the chute. When
the trip wire is positioned correctly, a coin passing
down the secondary chute and into the coin box will
momentarily push the trip wire down and cause the
switch contacts to close.

Also shown in the photograph is a slam switch
assembly. It has been included to discourage any
piayers who might try to obtain free game plays by
violently pounding on the coin door to momentarily
close the contacts on a coin switch. The slam switch
contacts cannect to the microcomputer system,
which will ignore coin switch signals whenever the
slam switch contacts are closed.

Access to Cotn Mechanisms

To remove jammed coins, and for maintenance
cleaning, each magnet gate assembly can be hinged
open without removing it from the door, as shown in
Figure 3-2. Or, if necessary, each coin mechanism can
be entirely removed from the door merely by pushing
down on arelease lever and simultaneously tilting the
mechanism back, then lifting it up and out. This is
shown in Figure 3-3.

Figure 3-1 Coin Door Assembly

12

Figure 3-2 Hinging Open the Magnet Gate Assembly



Figure 3-3 Removal of Coin Mechanism

Cleaning of Coin Paths

CAUTION ——————y
The use of an abrasive {such as steel wool
or a wire brush) or a lubrication on a coin
mechanism will result in a rapid buiidup of
residue.

By talking to many operators, we have found that
the hest method of cleaning a coin mechanism is by
using hot or bailing water and a mild detergent. A
taothbrush may be used for those stubborn buildups
of residue. After cleaning, flush tharoughly with hot
or boiling water, then blow out all water with com-
pressed air,

Figure 3-4 shows the surfaces to clean inside the coin

{Clean bath surfaces where coln enters
the machanism, as well as the magnel)

Figure 3-4 Surfaces to Clean Inside the

mechanism. These include the inside surface of the
mainplate, and the corresponding surface of the gate
assembly. There may also be metal panticles clinging
to the magnet itself, To remove these you can guide
the point of a screwdriver or similar tool along the
edge of the magnet.

If cains are not traveling as far as the coin mecha-
nisms, you will need to clean the channe! beneath the
coin slot. To gain access to this channei, use a %-inch
wrench and remove all three nuts that secure the
cover plate (refer to Figure 3-5). Removing the piate
will provide access to the entire channel.

Also clean the inside surfaces of the secondacy
coin chutes, but when doing this be careful not to
damage or bend the trip wires on the coin switches.

Figure 3-5 Removal of Plate Covering Rear of Coin
Slot

Lubrication

Do not apply lubrication to the coin mecha-
nisms. The only points that may need lubrication (and
only rarely) are the shafts of the scavenger buttons
{coin rejection buttons) where they pass through the
coin door. Apply oniy one drop of light machire oil,
and be paositive that no oil drops down onto a cain
mechanism. Figure 3-6 shows this lubrication point.

Adjustment of Coin Switch Trip Wire

In order for a coin switch to operate reliably
when a coin travels down the secondary coin chute,
the rest position of its trip wire shouid be as shown in
Figure 3-7. Use & o














































ZEELE —

SEaar -

vl -

- tukin

3
F)
H
!
&
FRpL N
]
gy
iVl T =
et
whay -
awar —
(1w .~_u
LI I
PERRT — -

ra

-
. TREEL

e mon -

Figure 4-5 Destroyer PCB Schematic Diagram
Sheet 3 of 5

28



! - % Tt pn : w“ A—asrsaun |

o ’ it | ORI,
w. Ml [l BB e
LA

T

L P

1

LENLT R ¥
Wt

e ...I-_.

a Ty z o
..... = Y £ ) R e
i vy C AT _

v

Figure 4-5 Destroyer PCB 5chematic Diagram

Sheet 4 of 5

29



- —— .. B A =

ir F
: foo Jem e
: ;‘ e = R

BDINE

- ot
. ¥ x t "

R Eut B8 A R {] nban wur

R £ K] .ot e o A

Hnet Laveud w Y] e

g O R

S

A ruERAT | a
s Pyl i)
mnad foad s

Au A AE I

5
e i = -.ﬁ.vF e e

RSP WY (.

e [Ty
. ﬂ| g SRS - GoEs | S
e A samig sty Al U7 T O
Ll al T T I TS AR
]

Garnumen ey

Hiriuees nia e

Figure 4.5 Destroyer PCB Schematic Diagram
Sheet 5 0i 5

30



I
W ICA D NPT —
lbgmm= J
=1 !
Pa 7= b L
e
[ #
I
N 0
_ ' £
Eid
_ - 3
| B
b | e e
- P
1. WGLTAGLS VARY MICH ASSOCIALER CONIROL EATHMG. o J _:_ :H"::
LB YOLACE W INIAINER A1 1Y 8¢ e we L o, LA 7
B ALL wORRKGES 4 Hink A% dalh SUBCD P08 FOMI Il ICRTED T ey m_ m Mg ua
CWLTSE WETWT A 1GH IMPLIBAMCL VTVN, 0 SICHAL BT . ooy A
COWTRASE & NRLICHINE 55 COMTIREL S 41 St [MUB. BLI DTHER 08,08, w. gl A [} . E w0
CONPIOLS I HONMAL DAL G PO LN, £ B Lie _: ¥ 2
AT SN (e G 3 e e ;
L. TAREN FIROoM POMI INEIEATED D EWA SIS MITY & WIDEMAND o - | L& Tl i
QECMLOSCOPE SYNEO NEAR SHIEFBATE INDICATED e 08, DI, 019 ALy =k
SHIRAL S BF | CONTRASE§ MILHTME §Y CONTRDLT 4] WhLr _ T 0 |
LM, AL TR ECMIAOLS 0t NORAAL DAY T1WE P TIT, I
—_— RENCATES PUNTER CIRELIE CAPGS | PP
LS OO R SPECH N - -y
ELM IO D AL VALLE I WP AL OPAERS BT CARACIIINCE |
WALUES LY AT SMOWN b SCHEMARIC [IAGRAN DN Copry EfT
FESCRIPTION SR 1) PARIS ChsT {
=)
|

oy

£ LM,

Lra ]

n

Figure 4-6 Motorola TV Monitor Schematic



5 59

e et 44 e

ML gy geageny w8 e
rukand = &

Frmeg

=]

%.v
., D%
T

ok
FIEP

Figure 4.6 TEC TV Manitor Schematic

32



ILLUSTRATED PARTS CATALOG

The purpose of this Chapter is to provide you
with the necessary information for ordering replace-
ment parts for the Destroyer Game.

When ordering parts from your distributor, give the
part number, part name, applicable figure number of
this list, and the serial number of your Destroyer
game. This wil} help to avoid confusion and mistakes
in your order. We hope the results will be less
downtime and more profit from yaur Destroyer
game.

If there are any questions about this list, please
contact Atari's Customer Service Department by
telephone Monday through Friday, from 7:30a.m. to
4 p.m. Pacific Time. From California, Alaska and
Hawaii, call (408) 984-1900, from the remaining 47
states call (800} 538-6892 (toli-free).

Your game will include either the Motorola or
TEC monitor, depending on their availability during
production.




CTEMS NOTT S G

~ Red

5
-

JJ

SAREE & M@@

34



NOTE g

DN-OFE SuIToH BENLOSURE
(T 62) TowsRDs THE
FRIGHT SR FPANE .

TR !)

T T T L T e e e L L 2 A T T

Figure 5-1

Destroyer Final Assembly

35



L_hl'

g

figure 5-1 Destroyer Fin

al Assembly

16



ATARI

Figure 5-1 Destroyer Final Assembly

Item Part Number Qty. Description
1 AQORSTT7-01 1 TV Shelf Assy — See Figure 5-2
2 009264-01 2 Block TV Tray
3 72-6812 |4 Screw, SM. #8 x 3/4 Lg., Phil Pan Hd4.
4 T5-01038 4 410 Washer Flat
5 75-040 o #10 Washer, Split-Lock
6 75-5132KH 4 Bolt, Carriage, ¥10-24 x 2.00 Lg.
7 75«9115 4 #10-24 Hut, Hex
8 A009511-01 1 Power Switch & Harness Assy
9 Az-1824 8 wooad Screw, #8 x 1.50" Lg. Flat Hd. Phil
10 AQ09013-01 1 Power Switch Harness
11 T2-6610 25 Screw, SM., Pan Hd., Phil., #6 x 53/8" Lg.
12 o02773-01 1 Rear Bepzel W/Graphics
13 QO8572-01 1 Monitor Mask
14 009763-01 1 Vacuum Formed Overlay W/Graphics
15
16 ACD3341-01 1 Mirror/Tape Assembly
1.7 AQQ8557~01 1 Mirrcr Tie-Down Pahel Assy
la
19
20
21 009774-01 1 Front Bezel, with Graphics
22 AQC9270-01 Ref Flourescent Light Harness
23 78-67032 A/R Black Photo Tape
24 AQO85653-01 1 Display Light Assembly - See Figure 5-3
25 A006548-01 1 Slide Switch Assembly
26 AQD9770-02 1 Cabinet Assembly with Graphics
27 A00%083-01 1 Coin Docr Final Assembly — See Figure 5-4
28 75-55168 4 Bolt, Carriage, #k-20 x 1.00" Lg, Black
29 75-9358 4 Nut, Wing %-20
30 75-045 , 4 Washer Split Lock, &
31 75-0158 B Washer, Flat %"
32 Q0&87T0-01 1 Bracket, Coin Box
33 009343-01 A Yoke Shield
34 AQGT802-01 1 Cash Box Assembly
35
36
37 ACQ7197-01 1 Power Supply Assembly (B) - See Figure 5-6
ae ACDTT7R4-01 1 Power Cord Assembly
i9 78-25001 I Screw Down Tie Wrap

e A Warner Communicatons Company

37




ATARI

Figure 53-1 Destrover Final Assembly

Item | Part Number Qty. DESCRIPTION
40 A030114-01 1 Main Harness
41 AD09626~02 1 R.F. Shield Box Assembly
42 AQD9775-01 1 R.F. Shield PCB Assembly — See Figure 5-7
43 A00Q9528-01 1 Destroyer Game PCB Assenbly - See Fiqure 5-8
44 72-6808 T Screw, SM., Pan., Hd., Phil., #8 x %" Lg.
45 72-6608 10 Screw, SM., Pan,, Hd., Phil., #6 x % Lg.
46 001638-01 2 Bracket Panel MTG
a7 AQDITE0-01 1 Front Housing Assembly
48 82-8016 3 Screw, Button Hd. Socket Cap, 10-32 x 1.00" Lg.
49 75-99090006 3 Well Mut, Blind Hole Fastener, 10-32
50 AQ0S766-01 1 Control Panel Assembly — See Figure 5-9
51 75-55188 4 Bolt Carriage #%-20 x 1.00" Lg., Black
52 TM-106 1 Operation, Maintenance and Service Manual
53
54
O 006305-01 1 Printed Poly Bag
56 AQO6H83-KX 1 shipping Container Assembly
57 AQOB64T-02 1 Rear Door Assembly W/Lock
58 005233-01 1 Rear Door Seal
59 46-201202 2 Fuse, 2 AMP
[=1¢} 009345-01 1 Seam Cover
6l 75-9905058 4 #%-20 Nylon Lock Nuts
62 005992-01 1 on/Off Switch Enclosure
63 5T-106 1 Self Test Chart

e A Warner Commamcahons Company

33




Figure 5-2 TV Sheli Assembly

40



ATARI’

Figure 5-2 TV Shelf Assembly

item Part Number Qty. Description
1 Q0BS56-01 1 T.¥. Shelf
2 72-6812 a8 Screws, Self Tapping, 49 x 3/4 Fhil. Pan H4
3 005594 4 Monitor Tie Down
4 G2-032 1 23-inch TV Monitor, Motorola Model M7000-155
or
92-030 23-inch TV Monivor, TEC Model THM-623
5 O08319-02 1 Copyright Decal

6 A warner Communcangng Company

4]



S { Tl

42

Figure 5-3 Display Light Assembiy



ATARI

Figure 5-3  Display Light Assembly

Item Part Number Qty. Description
1 ROOB860-01 1 Black Light Assembly 18"
2 K005495-01 T l3=Inch Fluorescent Light Assembly
3 ANOAS61-01 1 Light Mount Assembly
4 72-6912 “ 28 x 31/4" 5.M. Screw
g TE-0108 4 Washer Flat, #10
? BOO9270-01 1 Fluorescent Light Harness
3 T0-306 1 Fluorescent Tube 18" [F1% T8/BL}

6 Awarner Comenymcabons Company

43



d

B SOR fCons
OR /BK(M.O)—
OR (N ¢}

YEL /B (N O)
YEL (N.C)

Bl /YEL Anoig\

Figure 5-4 Coin Door Final Assembly

44



Figure 5-4 Coin Door Final Assembly

ATARY'

Item Part Number Gy, Description

1 AG06794-01 1 |Coin Door Assy. for American Quarter Only -See Figure 5-5
A006794-02 Ref.{Coin Door Assy. for Belgian 5 Francs Oniy -See Fiqure 5-5
AD06794-03 Ref.|Coin Door Assy. for German Mark Only -See Figure 5-5
A006794-04 Ref. | Ccoin Door Assy. for Swedish Krena Only -See Figura 5-5
A006794-05 Ref.|Coin Door Assy. for Japanese 100 Yen Only ~See Fiqure 5-5
200679406 Ref.|coin Door Assy. for English 10 Pence Only -See Figure 5-5
A0DRT794-07 Ref.|coin Door Asgy, for Australian 20-Cent Piece Only- See

Figure 5-5
2 ADDED21-CL B larness Assenbly

o A st COming i JN0NT LTI

45



e

oF \ \. {.ﬂ—l
Ex \\ WEL B
\ B SEL

- FTERA mw

U

_. RO

Amo 2P

O]

o

S

= |
/ | ﬂ ]

.

,K.
Byl
L

!

5,

Figure 5-5 Coin Door Assembly O

46



N\

ATARI’

Figure 5-3

Coin Door Assembiy

tem Part Number Qty. Description

1 A007637-01 1 Front Bezel Assy. - Used only on -0l Coin Door Assy.
AD07637-02 Ref.| Front Bezel Assy. - Used only on -02 Coin Door Assy.
ADDT63T-03 Ref.| Front Bezel Assy. - Used only on ~03 Coin Door Assy.
AD07E37-04 Ref.| Front Bezel Assy. — Used only on ~04 Coin Door Assy.
RO07637-05 Bef.| Front Bezel Assy. - Used only on -05 Coin Door Assy.
A007637-06 Ref.] Front Bezel assy. - Used only on -06 Coin Door Assy.
ADDTR3T-07 Ref.| rFront sezel Assy. - Used anly on -07 Coin Door Assy,

2 75-916&5 4 Hut &-32

3 ACOTEIF-O) 1 Coin Lock-gut Assembly

4 AOOTH30-01 2 Coin Switch Assembly

5 AQ02455-01 1 Coin Counter Assembly

[ 004320-01 1 Coin Door Weldment

7 DA4341-01 2 Secopndary Coin Chute

3 004344-01 1 Key Loop

7 a04340-01 2 Spring-Return

1c D04337=-01 2 Bracket, Wire Form

11 Q04338-01 1 Lock-0ut, Wire Form, R.H.

12 0o4336-01 1 Lock-0Out, Wire Form, L.H.

13 04326=-01 2 Button, 3Scavenger

14 T15-046 4 Lock Washer, #6

15 QoES04-01 2 Spacer

16 0G7359-01 1 Lamp Sachket

17 T0-11-47 L Lamp

18 73-3008 2 Retaining "C" Riny, Truarc #5103-2%

19 75~%914001 6 Salf-Threading Nut, Tinnerman HERIBBUOG

20 715-0265 ') Washer k6

21 75-00316e 13 Kepnut, Style 842, StI., 6-32

22 008629-01 2 Spring

23 71-2118 1 Lack Rssembly, Hudson Lock

24 F1-1225CU 2 Coin Mechanism for American Quarter oily
71-125FR Ref.| coin Mechanism for Belgian 5 Francs Only
71-121MG Ref.| Coin Mechanism for German Mark only
71-121KS Ref.| Coin Mechanism for Swedish Krona Only
71-12100Y.T Ref.| Coin Mechanism for Japanese 130 Yen Only
71-1210PE Ref.| Coin Mechanism for tnglish 10 Pence Only
71-1220CA Ref.| Coin Mechanism for Bastralian 20-Cent Piece only

25 037753-01 1 Plate, Anti-Probe

|_26 AQQ7638-01 1 Switch Assembly - 3lam

@ A Warner Communrcanens Company

47



48

Figure 5-6 Power Supply Assembly




ATARI

Figure 5-6  Power Supply Assembly

Item Part Number Qty, Description
1 AG09266-01 1 Power Supply Base Weldment Assembly
2 AQ06B86-01 1 Transformer Termination Assembly "Type B"
k] 29-053 1 Cap., Sprague Electrolytic 26,000nf @ 15V
4 78-705015C 1 Brkt., Cap. Mtg. Sprague #4586-48
5 AQ06555-01 1 P.C. Board Rectifier
&
7 79-4411004 5 Fuse Holder, Panel Mounting
8 41-2003 1 Filter, Power Line, 5 AMP
g AQQRIS5R-01 A/R Volt Sel Block 95V
10 AQDBSS58-02 2 Volt Sel Block 110V
11 AQ06258-03 " VYolt Sel Block 205V
12 AD0B95B-04 " Volt Sal Block 220V
13 78-2708 1 Grommet,Plastic
14 72-18088 3 Screw Pan H4., #8-32 x %" Lg.
15 72-18128 [ Screw Pan Hd., #8-32 x 3/4" Lg.
1e 75-038 9 Washer, Lock, External Star #8
17 75-92188 9 Nut Hex #8
12 75=01835 4 Washer Flat #8
19 AQ07192-01 1 Power Switch Termination
20 AQOT7444-01 1 Power In Harnmess
21 46-203801 1 Fuse, 8 aMP, 125V, 3 AG Fast Acting
22 46-201251 2 Fusea, 24 AMP, 125V, Slow Acting

S—
Q A Wacner Commurmcalions Company

49




ATTACH FARSIDE APPROWXIMATELY

WHERE INDICATED

I B

-~ CATFION |
R Litt upbotora B!
| pulling out :
_Wwwv...zc :
O I 2 _1_ 5 o
COFFM)UWLMHERET U Y WLYL
0000000 ..o -
goOwW 2
Jilwrﬂx
: 0o
_.m.;:. r B,
cou [ VRERPER WOEEL. "
ROW 2 @@@Ohj ‘r o
0 O Nu‘ eqm:o.__n_m:_w__stsnouﬁ 12 o

SMALL _zoc30p®l

iI0 PLCS.

%

,i@ SMALL CAP

10 PLCS.

Figure 5-7 RF Shield PCB Assembly

50



ATARI

Figure 5-7  RF Shield PCB Assembly

Item i Part Number Qty. Description
1 006549-01 1 P, C., Board
2 79-517222 1 Connector, 44 Pin P. C. Mount
3 27-250104 10 Cap.,, Cer Dise, .luf, 25V
4 27TA-250104 10 Cap., Cer Disc, .luf, 25V {Small} (Bottom Row)
5 41-3003 5 Induefor, 100uh,(Large)
8 41-3004 10 Inductor, 100uh (Small} (Bettom Row}
7 52-003 2 Jumper, ,60 Centers
8 52-004 2 Jumper, .30 Centers
9 009468-01 1 Decal, R. F. Shield Labei
° A Warner Communications Campany

51




L

Qg3

[ELY]
LS
[

P

ey
T4
diering

Y
0T USEt

HsHIng

Tentent g

JELLINE
TS T
CERLERY

'
639
1T |

R IY
aL-7031
TR

WATpeATLIRY
G010

sirepnneeng

QAR
ik

ERRETT AT Y]

Il

ROM

4vfu.wn
I

g
L5
Teaitird

[T}

e
[LLTLSHIEEN T}

|

1

oy

JALs

1 .
El 4525

T

trieg

1 L
a3gis?

_‘ﬁ._q_

Figure 5-8 Destroyer Game PCB Assembly

52



ATARI

Figure 5-8 Destroyer Game PCB Assembly

Item Part Number Qty. Description
1 009529-01 1 |[P.C. Board
10-5101 1 |Reststor, Carbon Comp., 5%, %W, 100 Ohm RA7

3§ 10-5102 44 " " @ mom K ® R3,Ta21,24,25
28-35,38,45-
53,55+58,97~
100

4 10-5103 9 . u " " " 106 R23,54,61,62,
67-69,73,89

5 10-5104 4 " " " reom 100K ™ Rb4w66,74

6 10=-5106 1 A 1 " A M oM R63

7 10-5152 2 " o g nomo 1,5k " R6,27

8 10-5153 1 & " " nmoor 15K " RT1

9 10-5154 1 L L L noom o 50K " R4AD

1¢ | 10-5220 1 2! u h L ) "o R22

11 | 10-5221 4 M " & oo 720 0" R4,5,39,40

12 | 10-5222 5 " h ) oo 2,26 M R37,61,82,92,
93

13 | 10-5223 1 N n " w3k " R76

14 | 10=5272 1 " u n woon 37K " RSB

15 | 10-53301 6 18 " at w w330 " R1,2,84,85,90
91

16 | 10-5332 1 " " " now 3,3k v R7O

17 | 105333 3 1 At " w m 33K " R72,75,79

18 | 10-5334 1 u 1t " woom 330K ™ R33

19 | 10-5392 2 " " 1t w % 39K " RE0,8

20 | 10-5393 1 " " 1 noom 3K M R&2

21 10-5473 1 " " " " 1 47K n R77

22 | 10-5474 2 " " At woom 470K " RS59,60

@ Awarner Communicabons Company

33




54

ATARI’

Figure 5-8 Destroyer Game PCB Assernhly

Team | Part Mareer |Gty ]| et rupkion
TR 5 Chm W24, 14
| pa-eal : 1 hakh
ELN TSI 1 B
| e - s
L)
™
E R RURTENTSS 1 [ #rimeee, e ona e
n | 1vsnare 1 ! amaarer, Srrmvoun, @, 4 a4
n
"
7]
L R TEYAIN 7 || Gacarrieae, Artae, e, qwr inn
» | wezsoio s -+ Eimc.. LTI T R TP
8,80, En,
s
| tersmn : N 2 k. E- IR TH )
17 | sapsesar L . . Wl ad
H | reazsbite 1 - - " W - oy
1| weasozne 1 i ] n e = tm
| peezyain 1 - - voama v
W | rr-rstim 1 ¥ Tar, Hae, ¢ L el M
BREIEL T : - - R B 4
b [ 1Tapv018) l 1 * ol " L ey
|z 4 - - Er R L
! e
| 2nzmce " - % - . i
: i
s | zmamnl ‘ L = Mo Mles, KN, IR M
od | meeadnin o] r = % BE IR
| meana 1 m femto, Bac., l0F, L1er O
"
w
ltam | Parc Mok | o] Do Fipktia,
EREECN 1 [[e1oaa, mmpa ShLL
41 | narmatel . EE ) LI
-
\1
5
1 Praapener, znmes n
LR ETREr P Fi . L3R IS
| somaren ' = i t
i
a1
-
RTRRTREN ) Tl e, rese
LIS LA 3 - g
w | ar-rne LN | B
we | 10 tonce 1] e n
LA ) ' I: S %k
CRRER 1 l - e
1atagn 1+ mm
b LR 4 T b Tald
Nk 1k
" J LB S 3 . i
1 anar I "
T Atebat s f - L
19 L arrain |l - EREE ]
141 AtanaTe i~ u
n[)msu Lo + LN
m | vty PR | £1, ¥
LERTETIN I o
Mo LTl A) [ . L2W e
m [ 3.1y 1y o
LR | - ZITRC
EIL T | I LA
[P TN el o- TN
s [ ar-mee || - e

°A waie Communicaions Campery

Tham | Curt bumkar |G-
toaw [ womary [ | T
| Al 17 ¥ L% EE 1)
1 - RUIELY
i) LLERITN L
: L LTRSS LN i3
: - Lixh) L]
3 b 1M ”m
L] . Al L]
L L
1 " L =10 wa
1 e [LRiLY "
p ot e £k
1| eegubetes, L3
L * RLIN L]
u 4 ' Ll ) LH
19 AT TR e il hudio e Tha 1004 no
[
05 | i
<o ] ]
i o dteam | [ #witch, Kowscary, 2FIT
Pt kal1RRIT Iy = A-foulchoa B1IF, SPET 4 & "
10h 17a16080 b|| Serew. Pun da, Paag, BT 2 N by, SR
1M a1 1 Umahat, Flut,
W [AF-11Y LoE ‘amhar, Loce, Img. Bear, #h
\'.Cs v B . T Py, dam, A1 ALY

o

oL B
saf 1aangn [ (for LHI2M
1 ORI ' . Lar TblGOM]
'.ur TEeaTe A2 Carmnt Crar TRAlOOE Maartimal
12l 4o || s Téor L4123}
"
14| !
i E
Tom | Pan pesstar |G| I
hal [reeazten 1 || 2demmt, mBptn, Mau. msareios
12
[T} .
313 B
123 |%aane 13| Erriear, 1200 " .
126
ar
us
174 [a-win 1| Ml roproerasnr, AEKL ney £
136 (40 Fagy 1 ||mm, brEm LRI
1L vty T [ Hllaet 3,53
11 [waa i ] NMams CED
11
bR
i)
134 (0L 3 el L || oamsn Chatae Senc PRow M !
SRR PR : = " Miaar O T,
1380307 3301 ' ¥ * Major @ 3 w
AEIEL Y 1 & " Auber Gnbecra 1 " :
168|030 34-00 L o BT [ i
| omea L < v darae ar
L |
[ITH i
I |
1841 036 LAt ©1 || sptn Chaegs M oo 2
Lk I 2 L - o rod tAoo m "
147 030301 L . oM Yool wt
T 0301t 1o R n
189 I
‘ -
i
H |
‘ I
i




DY

i
L0131

Tag 4
i

LT
BT LT

THIN]

230135
ning
LRI RNER L)
LTRRH
LLL "

G0- 15y
pwrniearig

Ly

e

Wil

.t Fﬂ— [En
reeniyd

L&A
sann e

satiny
1A LA
awenrdd g

ROM

LOLLLILR
L= TeilEb

1Y

T
.}
cut

Ad, & 10W

Figure 5-8 Destroyer Game PCB Assembly

55



ATARF

Figure 5-8 Destroyer Game PCE Assembly

Item | Part Number | Qty. Description

1| 009529-01 1 |P.C. Board

2 10-5101 1 |Resistor, Carbon Comp., 5%, X¥¥, 100 Ohm R&7

3| 10-5102 44 . L @ v IR v R3, 7-21,24,25
28-35,38,45-
53,55-58,97-
100 _

4 | 10-5103 9 " " mo w2 10K " R23,54,61,62,
67-69,73,39

5 | 10-510¢4 4 " " wom e 100K " R64-66,74

6 | 10-51086 1 & . moow o« 10M Y R63

7 | 10-5152 2 L i mooomoom 15K " R6,27

8 ! 10-5153 1 & . W wow 3SR v R7Y

9 | 10-5156 7 " “ LI D ¥ 1) L U

10 { 1025220 1 L " wowoomo22 o R22

11 | 10-5221 a " n wooomom 220 " R4,5,39,40

12 | 10-5222 5 " " @ w w22k »  R37,41,82,92,
93

13 | 10-5223 1 " it @ em K" R76

14 | 105272 1 1 " moomo e 2.7% ' RSB

15 | 10-5331 3 " " mooow w330 v R1,2,84,85,90
91

16 | 10-5332 1 " " mooomow 3.3k " R0

17 | 10-5332 3 " " WM 33K 0 RT72,TS,T9

18 { 10-53% 1 " " mowoom 330K " R83

19 | 10-5392 2 n . Wooomoom 39K u REQ,81

20 | 10-5393 1 & " oo 39K 0 R4Z

21 | 105473 1 0" G mooomoom 47k M R7T

22 | 10-5474 2 " 6 mooo 470K % RSS,60

6 A'wamer Communicghons Campany

56




Figure 5-8 Destroyer Game PCB Assembly

Sy, Enrk ool
% 2 (| asienor, Curnon Comp.. TR, AW, Sk Oha R2E, T
a H 5 n L I § 1)
3 s % 1 R
F N TSP . . 5 s & o
. m ‘I
s | - 11| Telec, "1
w0 | R § o1 || fanaeer, darveana, T, W oha e
o 1
Com i
+ : 1 1
By | .
w | 7e1a1% ) lt‘-.uuw-. Hrlar, [N REFTI B ) I
i | 24T ] - Elas., i, (LR T
B, 80,0,
: G
W be-petie H = o £ o= o
EL I L i e * LT =0 )
Ta] MR 1 u = n e s ow
n Jar 133238 1 » 1 * s cTh
& | peepssece 1 " - R - 1Y
ab | praesmon ] o tpr, Biee, ¢ MO 7 e, 708k
ez pt-15m1 : A C - 02 ChE e
G UL ¥ . 7 = CIREI.-
-] e % & = L7 n cie bl
RN H
B} ! s " i " & cioga .
et ]
o4l i
+F, 40,0,
BT, M
: | w0
: | Wi,
i i 4, AL
LI N.L
LR 1 = Dlepd Mies, 100V, O of  CA4
110133, z 3 4 [ 1. PURTE
1 oo i 4 Tewu, Bae, WY, tEat ED
(1 i | 7
: [ ;
Nem | Purt pombee | Qi Dmecripten
"
-t 1 || Froas, UM 18]
RE Y . LR ) AL
E3
1%
"
LT b L Transintor, WML a1
(TR Ty e . - L5 | T2k,
LA L] 1 J w0 W
“
1
[}
AR 1 || e, e Pl
| 17-TR0] t - ez kB K7
| BTk ) Tale K1, MKy
& | 3TaTe 1 = n !
AT | AT-reod 1 E PO T
ELE LN
& 13T fe10 1 =~ Bt
Lk RERRLK ) L =+ =i
M| -T2 1 N ta2l
| 31k 1 » Ttk
17 | ATaThIZ 1 ] i
Ty | IT-TA7 ) » ha)T
L LY ] : | iy Mk
TH| et 3 - nin
M| I7-feale ¥ Ay Bt L
BABLEE 1Y H - TRl
m| 1= 1 ~ ELLEY
LB L - rer
L ARG sl o+ mn
LR EERATH 1]y o+ e
LA BIRLE b 1 - AT
L EERTTE ] w|] - ama
| TR 2 b 14141 bk
Y| ATTA Pt A mih
[

P YORpS

R Y S

Somuy

TEAYD Humtainn?

| rase | Part mamgmr | Sy Deseripiion

,[ TR EERTTEL TR

B L RERETENE ] w4
28 [ v 1 e
LRI R AT v oo mans )
LRI T : | T T LIRS
n | y-anr L | - e E)
LR L LI B L]
LI PR LR ]
[ 12,508 1 - e ]
4 | 1rnyae Pl - menme e
W | sy vl L
EL LT T E T T LF
LRI ) Laguiscar, LA121
w H “ amz kLl
100 33 7805 3 e 1 ar
101 371000k 1 iy L= Ho
. |
LW 1
. I
LT 1 || s=acen. rowwmtacy, 1P
108 a1 2P2T 1 " Aaberliias W, 1A oe W W
107 THo e ik I Teraw, Taw ML TALL, Mol Ly, fiEs
LR Db | Gasnar, P, m
Loaf 100k ? o Vasnar, loce, Enr. drar, M
[Tt RTEV) 30 Bt e, 3, G
LLy
1L
1y !

804001 Vo] mesreien ik
DO aTg=b Vol ™ ey 004t
§

Hel i [ P TS Fewr La221)
!
1 |
Cem | Pur Mumber | Str.(] il icid
121 |Magnsa L |2 swaae, w0artn, 2oy, Lnapriron
132 '
L' i
L :
L2110 : b1
L% 1
12t
L
LTH{4o-dit 1 ] mcesprmanesar, nesod (1
30 [#0-T003 E I Ve w7
P |- il <1,08
13 [r-Am | HLIP L
mn
1
115
118 {03011 L drnc PEOM "
L3710 320, ' a : £ = Aunac Jhimels R
L8| cM1I-0t s - - ajor Oheets 1 L]
[ 3 - daber Ghieens 2 "
s - - Wiphamseries "
by ad + e K1
3
i
- i
AL E R TR 1 L] i

57



58

Tb senman
S

/
Bx favily / {

Wt 0 DY l'u / /

; / -
G @ fl é
Bk / o

5

e~ r'/ / T‘r

_’/-‘_‘9(‘“" Fﬂ ,
I _‘/——-ﬁ:fu / -IF-‘ 4 ORf (W)

{ £ o ‘ rJ

Ly v aK(c}
& @ T\f % =y

0z 2 g tha) Batfit (M.0)
: § z =

L o
| _5\
OOUTLT-01
Q/%
et

Figure 5-9 Control Panel Assembly



ATARY

Figure 5-9 Control Panel Assembly

Iem Part Number Qty. Description
1 009767-01 1 Control Panel with Graphics
2 A030118-Gl 1 Switch Assy - See Figure 5-10
3 ADO7547~02 1 Shift Assy - See Figure 5-11
4 0G61856-01 1 Bushing, Alum,
5 62=002 1 Switch, LED, Lighted
[ 75=-5116B 8 Carriage Bolt, #10-24 x 1.00 Lg (Black)
7 75-0108 8 #10 Washer, Flat
8 15-040 a2 #10 Washer, Split-Lock
9 ARO30115-901 HE Contzrol Panel Harmess

a A Warner Communicalions Company

59




/

Figure 5-10 Switch Assembly

60



lk Figure 5-10 Switch Assembly

ATARI

Ttem Part Number Qty. Description
1 030116-01 1 M1G Plate
2 030117~-01 1 Flat Spring
3 73-83Q 1 Knok
q *55-081A 1 Micra Switch*
5 72-1410C 2 Machine Screw 4-40 x .62 Lg.
6 75-054 2 Lock Washer Int. Tooth #4
7 75-9148 2 Hex Wut #4~40
a 15-3188 2 Hex Nut #8-32
9 75-0288 2 Flat Washer 48
10 75-048 2 Split Lock Washer #8
11 75=0158 1 Flat Washer #h Wide
12 19-95011 1 Pot 5K, Slip Clutch

* Acceptable Substitutes
65~-091A, 65-101A, 65-11A, 65-041C

-
0 A Warner Communications Company



62

Figure 5-11

Shift Assembly



ATARYI’

Figure 5-11  Shift Assembly

Item Part Number Qty. Description
1 AOOT7480-01 1 Shaft Assy
2 ACO?534-01 1 Switch/Bracket Assy
3 A007188-01 1 Shift Bracket Weldment
4 007396~-01 1 Plate Slider
5 007535-01 3 Retainer, Compression
7] 007373-01 1 Shaft
7 007372-01 1 Spring Pin
8 15-014 2 Flat Washer #4
g 75-28048 2 Machine Screw 8-22 x %" Lg.
10 75-048 2 Split Lock Washer 8
11 73-3002 2 Retaining Ring 423-2
12 78-3001025 1 Spring (LEE #LE-DASD-4}

@ & uariee Cpnmencners ComEdry

63




